
CT2009Q017
 <Restricted># Appendix C Annex B Price

2021 2022 2023 2024 2025

S/N Name/Description Model/Part No.
Unit of 

measure
Unit Price Unit Price Unit Price Unit Price Unit Price

Item 1 & 2 to be part of the contract sum absorbed by contractor

1 Fasteners
All bolts, nuts, 

screws, pins etc. Lot

2 Consumables
All sprngs & minor 

wearable items Lot

List of chargeable part items

3 Consolidated Rollers   (Pinion) 1921-005 pc

4 TOW HITCH   (BT)  (PD) G144 pc

5 BALANCER, LONG  (PD) 1090A pc

6 SAFETY CATCH ASSY  (PD) G89 pc

7 RESTRAINT LEFT/RIGHT  (PD) 923-10 pc

8 REFLECTIVE TAPE  ( ALL NME) G98 each

9 BRIGHT MILD STEEL ROD 1-1/4" Dia  (PD)  (BT) 57 per Ins

10 AL FLAT BAR 3/4" X 1/8"  (BT) AFB3/4 per Ins

11 STAINLESS STEEL SS CHAIN (1FT)  (BT) SS per Ins

12 TOW BAR  (BT) BM17 pc

13 TOW BAR HOOK  (BT) BM21 pc

14 BRAKE ASSY  (BT)  (PD) 7100A pc

15 CANVAS DOCUMENT POCKET  (BT) BM30 pc

16 BRAKE PAD (BT)  (PD) BM31 pc

17 BRAKE SHOE ASSY  (BT) BM32 pc

18 BT PUSH ROD  (BT)  (CT) BM33 pc

19 BT WHEEL SHAFT  (BT) BM34 pc

20 D-BRACKET  (BT) BM39 pc

21 D-BUMPER   (BT) BM39A pc

22 LIP CHANNEL TOP X 5FT  (BT) BM40 pc

23 ROLLER ASSY (TOP CHANNEL)  (BT) BM41 pc

24 DOOR HANDLE BUSH  (BT) BM43 pc

25 TOW BAR RING   (BT)  (MT)  (CT) BM49 pc

26 GWBT CANVAS  2MM THK (GWBT) APS-03 pc

27 LBT CANVAS  (LBT) BM52 pc

28 CANVAS (WHITE)  (BT) BM35 pc

29 WHEEL HUB  (CT) 3265082 pc

30 TURNTABLE  650N JOST  (BT) PS29 pc

31 DOOR BAR 1"  (BT) 1009 pc

32 DOOR BAR 'U' RING  (BT) 1010 pc

33 DOOR BAR HANDLE  (BT) 1061 pc

34 TOW BAR LOCK HOOK  (PD) 1064 pc

35 3625082 W/SHAFT  (CT) 1074 pc

36 RELEASE PADDLE ASSY  (CT) 1078 pc

37 FORKGUIDE BIG  (PD) 1080 pc

38 FORKGUIDE SMALL  (PD) 1080A pc

39 TRIANGLE WEDGE 6mm (Thk)  (PD)  (CT) 1081 pc

40 CASTOR FORK ASSY SWIVEL  (PD) 1107 pc

41 BALANCER, SMALL  (PD) 1090 pc

42 BALANCER, BIG  (PD) 1090A pc

43 TOW BAR RING PLATE 1"  (PD) 1092 pc

44 400x8 Tyre/Rim assy.Hardness 60-65 stright line (ALL MNE) 1094 pc

45 LEXAN PLATE 1/4" (Thk)  (PALSUN)  (MT) 1095 pc

46 REST STAND (PD) 1101 pc

47 1500x2801x2mm(Thk) MS PLATE C/W 3 BENDS 25mm  (BT) G105 pc

48 M16 HEX.BOLTS & NUTS  (ALL MNE) G113 each

49 ZINC PLATED ROLLER FOR HPD - 60mm Dia x 300 L  (HPD) G130 pc

50 6" CASTOR WHEEL WITH PARK BRAKE SYSTEM  (RL) G135 pc

51 TOW BAR ASSY  (PD) 201A pc

52 STAND   (PD) 207-1 pc

53 AXLE CENTER C/W NUT  404A  (PD) 404A each

54 WHEEL SHAFT  (PD) 409A-1 pc

55 BUSHING, SS  (PD) 409A-3 each

56 CASTOR FORK ASSY, RIGID  (PD) 5001 pc

57 HUB  (BT)  (PD) 604A pc

58 SEAL OIL  (PD) 605A-2 pc

59 SPACER  (PD) 605A-4 pc

60 STOPPER  (PD) 902-10 each

61 BEARING 1208 (BRAND KYK Japan )   (CT) 1208 each

62 TAPER ROLLER BEARING (BRAND KYK Japan )  (CT) 30205 each

63 BEARING (BRAND KYK Japan )  (CT)  (PD) 30208 each

64 BEARING 6206 (BRAND KYK Japan )   (PD) 6206 each

65 BEARING 6210 (BRAND KYK Japan )   (PD) 6210 each

66 BEARING 4T-30309 (BRAND KYK Japan )   (PD) 4T-30309 each

67 BEARING 51120 (BRAND KYK Japan )   (PD) 51120 each

68 BEARING 6007zz (BRAND KYK Japan )   (PD) 6007zz each

69 BEARING 30206 (BRAND KYK Japan )   (BT) 30206 each

70 BEARING 30306J (BRAND KYK Japan )   (BT) 30306A each

71 BEARING 6308zz (BRAND KYK Japan )   (BT) 6308z each

72 BEARING 4T-30209 (BRAND KYK Japan )   (MT) 4T30209A each

NME Parts Price List
Contract duration

Included in the Rates Below

Price Table
# Signature: _______________ Page 1 of 4



CT2009Q017
 <Restricted># Appendix C Annex B Price

2021 2022 2023 2024 2025

S/N Name/Description Model/Part No.
Unit of 

measure
Unit Price Unit Price Unit Price Unit Price Unit Price

Item 1 & 2 to be part of the contract sum absorbed by contractor

1 Fasteners
All bolts, nuts, 

screws, pins etc. Lot

2 Consumables
All sprngs & minor 

wearable items Lot

List of chargeable part items

NME Parts Price List
Contract duration

Included in the Rates Below

73 6 inch castor wheel hevavy Daty ( front) Ramp ladder 1.7m NA each

6 inch castor wheel hevavy Daty ( Rear) Ramp ladder 1.7m

with brake cylinder swivel

75 Semi Auto lock ( CT/PD) Restrain lock assy Assy

76 PAINTING TOUCHUP ( whole body)  (BT)  BMT per unit NME

77 PAINTING TOUCHUP (whole body)  (CT)  (PD)  (HPD) CTT/PDT per unit NME

78 PAINTING COMPLETE WHOLE BODY  (CT) CTW per unit NME

79 PAINTING INTERNAL whole body white  (BT)  (MT) BMI per unit NME

80 PAINTING COMPLETE WHOLE BODY   (MT) BMW per unit NME

81 PAINTING COMPLETE WHOLE BODY  (BT)  BMW per unit NME

82 PAINTING COMPLETE WHOLE BODY  (PD) PDW per unit NME

83 GENERAL SERVICING  (MT)
Oiling, greasing, anti-

corrosion preventive 

measures

per unit NME

84 GENERAL SERVICING   (CT)
Oiling, greasing, anti-

corrosion preventive 

measures

per unit NME

85 GENERAL SERVICING   (PD)
Oiling, greasing, anti-

corrosion preventive 

measures

per unit NME

86 GENERAL SERVICING   (BT)
Oiling, greasing, anti-

corrosion preventive 

measures

per unit NME

87 GENERAL SERVICING   (HPD)

Oiling, greasing, anti-

corrosion preventive 

measures
per unit NME

Grease Brand to be used (Caltex Starplex EP2 & Mobil , Castrol 

Heavy Duty) ( All NME)

Brand:

SATS CORPORATE COLOR (Pantone code) :

1) Crimson 1807

2) Warm Grey 1665

3) Orange 1817

MANHOUR RATE

88 MANHOUR LABOUR RATE FOR WELDER All Labour (MS) Hr Rate

Total Cost Per Month (2288/12)  

89 MANHOUR RATE FOR TRACTOR DRIVER (OPTION) All Labour Per Month

90 MANNING LEVEL  Headcount

a No. of Supervisor  2 2 2 2 2

b No. of Welders  7 7 7 7 7

Company  Full Name: _______________________________

Name and Designation of person submitting: ______________________________________

DATE:                    _______________________________ Signature :        _______________________________________________

NA
each74

All Greases and Paint to be used as per SAS Specification

Price Table
# Signature: _______________ Page 2 of 4



CT2009Q017
 <Restricted># Appendix C Annex B Price

S/N Name/Description Model/Part No.
Unit of 

measure

Item 1 & 2 to be part of the contract sum absorbed by contractor

1 Fasteners
All bolts, nuts, 

screws, pins etc. Lot

2 Consumables
All sprngs & minor 

wearable items Lot

List of chargeable part items

3 Consolidated Rollers   (Pinion) 1921-005 pc

4 TOW HITCH   (BT)  (PD) G144 pc

5 BALANCER, LONG  (PD) 1090A pc

6 SAFETY CATCH ASSY  (PD) G89 pc

7 RESTRAINT LEFT/RIGHT  (PD) 923-10 pc

8 REFLECTIVE TAPE  ( ALL NME) G98 each

9 BRIGHT MILD STEEL ROD 1-1/4" Dia  (PD)  (BT) 57 per Ins

10 AL FLAT BAR 3/4" X 1/8"  (BT) AFB3/4 per Ins

11 STAINLESS STEEL SS CHAIN (1FT)  (BT) SS per Ins

12 TOW BAR  (BT) BM17 pc

13 TOW BAR HOOK  (BT) BM21 pc

14 BRAKE ASSY  (BT)  (PD) 7100A pc

15 CANVAS DOCUMENT POCKET  (BT) BM30 pc

16 BRAKE PAD (BT)  (PD) BM31 pc

17 BRAKE SHOE ASSY  (BT) BM32 pc

18 BT PUSH ROD  (BT)  (CT) BM33 pc

19 BT WHEEL SHAFT  (BT) BM34 pc

20 D-BRACKET  (BT) BM39 pc

21 D-BUMPER   (BT) BM39A pc

22 LIP CHANNEL TOP X 5FT  (BT) BM40 pc

23 ROLLER ASSY (TOP CHANNEL)  (BT) BM41 pc

24 DOOR HANDLE BUSH  (BT) BM43 pc

25 TOW BAR RING   (BT)  (MT)  (CT) BM49 pc

26 GWBT CANVAS  2MM THK (GWBT) APS-03 pc

27 LBT CANVAS  (LBT) BM52 pc

28 CANVAS (WHITE)  (BT) BM35 pc

29 WHEEL HUB  (CT) 3265082 pc

30 TURNTABLE  650N JOST  (BT) PS29 pc

31 DOOR BAR 1"  (BT) 1009 pc

32 DOOR BAR 'U' RING  (BT) 1010 pc

33 DOOR BAR HANDLE  (BT) 1061 pc

34 TOW BAR LOCK HOOK  (PD) 1064 pc

35 3625082 W/SHAFT  (CT) 1074 pc

36 RELEASE PADDLE ASSY  (CT) 1078 pc

37 FORKGUIDE BIG  (PD) 1080 pc

38 FORKGUIDE SMALL  (PD) 1080A pc

39 TRIANGLE WEDGE 6mm (Thk)  (PD)  (CT) 1081 pc

40 CASTOR FORK ASSY SWIVEL  (PD) 1107 pc

41 BALANCER, SMALL  (PD) 1090 pc

42 BALANCER, BIG  (PD) 1090A pc

43 TOW BAR RING PLATE 1"  (PD) 1092 pc

44 400x8 Tyre/Rim assy.Hardness 60-65 stright line (ALL MNE) 1094 pc

45 LEXAN PLATE 1/4" (Thk)  (PALSUN)  (MT) 1095 pc

46 REST STAND (PD) 1101 pc

47 1500x2801x2mm(Thk) MS PLATE C/W 3 BENDS 25mm  (BT) G105 pc

48 M16 HEX.BOLTS & NUTS  (ALL MNE) G113 each

49 ZINC PLATED ROLLER FOR HPD - 60mm Dia x 300 L  (HPD) G130 pc

50 6" CASTOR WHEEL WITH PARK BRAKE SYSTEM  (RL) G135 pc

51 TOW BAR ASSY  (PD) 201A pc

52 STAND   (PD) 207-1 pc

53 AXLE CENTER C/W NUT  404A  (PD) 404A each

54 WHEEL SHAFT  (PD) 409A-1 pc

55 BUSHING, SS  (PD) 409A-3 each

56 CASTOR FORK ASSY, RIGID  (PD) 5001 pc

57 HUB  (BT)  (PD) 604A pc

58 SEAL OIL  (PD) 605A-2 pc

59 SPACER  (PD) 605A-4 pc

60 STOPPER  (PD) 902-10 each

61 BEARING 1208 (BRAND KYK Japan )   (CT) 1208 each

62 TAPER ROLLER BEARING (BRAND KYK Japan )  (CT) 30205 each

63 BEARING (BRAND KYK Japan )  (CT)  (PD) 30208 each

64 BEARING 6206 (BRAND KYK Japan )   (PD) 6206 each

65 BEARING 6210 (BRAND KYK Japan )   (PD) 6210 each

66 BEARING 4T-30309 (BRAND KYK Japan )   (PD) 4T-30309 each

67 BEARING 51120 (BRAND KYK Japan )   (PD) 51120 each

68 BEARING 6007zz (BRAND KYK Japan )   (PD) 6007zz each

69 BEARING 30206 (BRAND KYK Japan )   (BT) 30206 each

70 BEARING 30306J (BRAND KYK Japan )   (BT) 30306A each

71 BEARING 6308zz (BRAND KYK Japan )   (BT) 6308z each

72 BEARING 4T-30209 (BRAND KYK Japan )   (MT) 4T30209A each

NME Parts Price List
2026 2027 2028

Unit Price 

(Option Year)

Unit Price 

(Option Year)

Unit Price 

(Option Year)

Option years

Included in the Rates Below

Price Table
# Signature: _______________ Page 3 of 4



CT2009Q017
 <Restricted># Appendix C Annex B Price

S/N Name/Description Model/Part No.
Unit of 

measure

Item 1 & 2 to be part of the contract sum absorbed by contractor

1 Fasteners
All bolts, nuts, 

screws, pins etc. Lot

2 Consumables
All sprngs & minor 

wearable items Lot

List of chargeable part items

NME Parts Price List

73 6 inch castor wheel hevavy Daty ( front) Ramp ladder 1.7m NA each

6 inch castor wheel hevavy Daty ( Rear) Ramp ladder 1.7m

with brake cylinder swivel

75 Semi Auto lock ( CT/PD) Restrain lock assy Assy

76 PAINTING TOUCHUP ( whole body)  (BT)  BMT per unit NME

77 PAINTING TOUCHUP (whole body)  (CT)  (PD)  (HPD) CTT/PDT per unit NME

78 PAINTING COMPLETE WHOLE BODY  (CT) CTW per unit NME

79 PAINTING INTERNAL whole body white  (BT)  (MT) BMI per unit NME

80 PAINTING COMPLETE WHOLE BODY   (MT) BMW per unit NME

81 PAINTING COMPLETE WHOLE BODY  (BT)  BMW per unit NME

82 PAINTING COMPLETE WHOLE BODY  (PD) PDW per unit NME

83 GENERAL SERVICING  (MT)
Oiling, greasing, anti-

corrosion preventive 

measures

per unit NME

84 GENERAL SERVICING   (CT)
Oiling, greasing, anti-

corrosion preventive 

measures

per unit NME

85 GENERAL SERVICING   (PD)
Oiling, greasing, anti-

corrosion preventive 

measures

per unit NME

86 GENERAL SERVICING   (BT)
Oiling, greasing, anti-

corrosion preventive 

measures

per unit NME

87 GENERAL SERVICING   (HPD)

Oiling, greasing, anti-

corrosion preventive 

measures
per unit NME

Grease Brand to be used (Caltex Starplex EP2 & Mobil , Castrol 

Heavy Duty) ( All NME)

Brand:

SATS CORPORATE COLOR (Pantone code) :

1) Crimson 1807

2) Warm Grey 1665

3) Orange 1817

MANHOUR RATE

88 MANHOUR LABOUR RATE FOR WELDER All Labour (MS) Hr Rate

Total Cost Per Month (2288/12)  

89 MANHOUR RATE FOR TRACTOR DRIVER (OPTION) All Labour Per Month

90 MANNING LEVEL  Headcount

a No. of Supervisor  

b No. of Welders  

Company  Full Name: _______________________________

Name and Designation of person submitting: ______________________________________

DATE:                    _______________________________ Signature :        _______________________________________________

NA
each74

2026 2027 2028

Unit Price 

(Option Year)

Unit Price 

(Option Year)

Unit Price 

(Option Year)

Option years

Included in the Rates Below

2 2 2

7 7 7

All Greases and Paint to be used as per SAS 

Specification

Price Table
# Signature: _______________ Page 4 of 4


